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總體93/上     第二次考試   班級：        學號：           姓名：

Williamson Ch 5-7  (2004/12/09, 9:10-10:50 am)  
I. Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

1. In the one-period competitive model we have been studying

(a) both consumption and total factor productivity are exogenous.

(b) consumption is exogenous and total factor productivity is endogenous.

(c) consumption is endogenous and total factor productivity is exogenous.

(d) both consumption and total factor productivity are endogenous.

2. The production possibilities frontier in the one-period model is a

(a) behavioral relationship between consumption and leisure.

(b) behavioral relationship between consumption and government spending.

(c) technological relationship between consumption and leisure.

(d) technological relationship between consumption and government spending.

3. Changes in government spending are not likely causes of business cycles because government

spending induced business cycles would, counterfactually predict

(a) countercyclical real wages.

(b) procyclical real wages.

(c) countercyclical employment.

(d) procyclical employment.

4. An increase in total factor productivity

(a) increases consumption, increases output, and increases the real wage.

(b) reduces consumption, increases output, and increases the real wage.

(c) reduces consumption, increases output and reduces the real wage.

(d) reduces consumption, reduces output, and reduces the real wage.

5. Real business cycle theory argues that the primary cause of business cycles is fluctuations in

(a) preferences.

(b) government spending.

(c) the importance of externalities.

(d) total factor productivity.

6. There is evidence that income per worker is converging in

(a) the richest countries and the poorest countries.

(b) the richest countries but not the poorest countries.

(c) the poorest countries but not the richest countries.

(d) neither the richest nor the poorest countries.

7. In Solow’s exogenous growth model, the principal obstacle to continuous growth in output per

capita is due to

(a) the declining marginal product of labor.

(b) the declining marginal product of capital.

(c) limits in the ability of government policymakers.

(d) too little savings.

8. In the steady state of Solow’s exogenous growth model, an increase in the savings rate

(a) increases output per worker and increases capital per worker.

(b) increases output per worker and decreases capital per worker.

(c) decreases output per worker and increases capital per worker.

(d) decreases output per worker and decreases capital per worker.

9. In the Solow growth model, countries with identical total factor productivities, identical labor force

growth rates, and identical savings rates

(a) always have identical levels of capital per worker and output per worker.

(b) in equilibrium, have identical levels of capital per worker and output per worker.

(c) in equilibrium, have identical levels of capital per worker but not necessarily identical levels of

output per worker.

(d) in equilibrium, have identical levels of output per worker but not necessarily identical levels of

capital per worker.

10. In the endogenous growth model presented in the text, an increase in the efficiency of human capital accumulation

(a) increases the growth rate of human capital and increases the growth rate of output.

(b) increases the growth rate of human capital and decreases the growth rate of output.

(c) decreases the growth rate of human capital and increases the growth rate of output.

(d) decreases the growth rate of human capital and decreases the growth rate of output.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. 計算與申論題 (總分: 60 分) 

答案請直接寫在題目卷上。
1. In a one-period (static) macroeconomic model, there are a representative household, a representative firm, and government.  Please derive the corresponding Walras’ law and explain its relationship to general equilibrium. (15%)

2. Suppose that the government treats government expenditures G as a policy instrument, and suppose that the policy goal of the government is to stabilize consumption for the representative consumer. That is, whenever z changes in the economy, the government observes this, and changes G in such a way that C is the same before and after the change in z. Now, suppose that z falls. (Total:20%)
(a) In what direction does the government need to change G to stabilize C when z falls? (4%)
(b) If the government stabilizes C when z falls, show that employment and aggregate output must fall and that the representative consumer must be better off than before the decrease in z. Draw graphs and explain your results. You must show the income and substitution effects involved to solve the problem. (16%)
3.  If total factor productivity decreases, determine using diagrams how this affects the golden rule quantity of capital per worker and the golden rule savings rate. Explain your results. (15%)
4. 根據Solow外生成長模型，設定生產函數為
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。請由以下成長率的資訊，推估各要素（z, K, L）於產出成長的貢獻，請明示計算過程。(10%)
	
	Y的成長率 
	K的成長率
	L的成長率

	平均值
	8%
	10%
	3%
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